/,\‘J(fhhw ~ HIGHLY ERODIELE LAND CLASSES - HIGHLY ERODIELE AND
1 = HIGHLY ERODIEBLE LAND FOTENTIALLY HIGHLY ERODIELE
2 = POTENTIALLY HIGHLY ERODIBLE LAND CACULATOR VER 1.1
Z o= NOT HIGHLY ERCDIEBLE WIND EROSIION 1 WATER ERQOSION
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1Z27TARE ARE ARNDT 1 100 0.8 175 0.24 & ] k2] 100 400 Q.227 1.938& &
1ZTARC ARC ARNOT 1 100 0.8 175 0,24 = ] 16 100 400 O.271 G.11% 1
1Z7TARD ARD ARNIT 1 100 0.5 175 0.4 bt 15 =5 100 400 Z.88% 11,780 1
1ETEBA EA BAREOUR 1 100 0.8 175 O 32 ] 4] 2 100 400 0.0&% 0. 435 3
1Z7EH EH BASHER 1 100 0.3 17% 0.3E L Q e 100 400 Q.06% QL4380 ]
127FF FF FLUVENTS 1 70 0.2 175 0,43 1] (] 3 100 400 0.0&% 0. 435 3
127TFF FF FLUVAQUENTS 20 . 175 0.43 = O 3 100 400 0.08% 0.435 o
1 ZTHD HO HOLLY 1 100 Q.8 42 175 O.28 ] 0 = 100 400 0,067 0,425 e
1Z7LA LA L.INDEN 1 100 0.8 175 Q.37 4 3] 2 100 400 0Q.06% 0.438 ]
1Z7L.DE LDE LORDSTOMWN 1 100 0.8 175 0. 2 2 = 100 400 0,23 1,988 Z
127LDC LDC LORDSTOWN 1 100 4 0.8 175 0.2 ] = 15 100 400 0.291 G.119 1
1271.DD LDD LORDS TN 1 100 .= 175 0.2 3 15 =5 100 400 Z.8987 11,720 1
1ZTLXE LXE LIOIRDSTOWN 1 100 0.2 175 0. 3 e 3 100 400 0,237 1,988 Q.426 Z
1ETLXC LXYC LORDSTOWN 1 100 0.3 175 0.2 3 = 25 100 400 0.991 - 11,780 O.A426 1
1ZTMAR MAR MARDIN 1 100 0.8 175 0.z24 3 ] = 100 400 0.287 1.982 0,571 =
127TMAC MAC MARDIN i 100 0.8 175 Q.24 ] 2] 15 100 400 Q.2%1 B.112 O.B71 1
i 1Z7TMAD MAD MARDIN 1 100 o 175 0.24 3 15 ] 100 400 2.5%%9 11,780 0.571 1
1Z27MDE MDE MARDIN 1 100 0.8 175 Q.24 3 2 2 100 400 0.287 1.982 0,671 by
1Z27MDD MDD MARDIN 1 100 0.8 175 Q.24 o] 15 Z5 100 400 2.58% 11.780 0,571 1
1Z7M3A MDA MORRIS 1 100 0.2 178 0,28 4 Q 3 100 400 0.04% 0,435 0,653 2
1Z27MOR MOB MORRIS 1 100 0.2 175 Q.23 4 3 ] 100 400 0.287 1.982 0,852 Z
127TMOC MOC MORRIS 1 100 Q.8 175 0.2 4 a8 15 100 400 0,991 B.11% 0,653 1
1ZTMXRB MXE MORRIS 1 100 0.3 175 0.24 4 s] ] 100 400 0.04% 1.782 0,768 e
127MXC MXC MORRIS 1 100 0.8 175 Q.24 4 2 15 100 400 0,971 5.119 Q.7a2 1
1ZTNCA NCA NORWICH 1 &0 0.8 175 0.24 2 Q 2 100 400 0.08% 0. 458 0.671 3
1Z7NCA NCA CHIFFEWA Z 30 0.8 175 0.24 3 0 3 100 400 0.06% 0.435 0.571 e
1Z7NXA NXA NORWICH 1 40 0.8 175 .osNﬁ‘ 3 (4] 3 100 400 0.04&% 0.425 0.671 3
1Z7NXA NXA CHIFPFEWA £ 30 Q.2 178 Q.24 2 0 3 100 400 Q.09 0.4%265 0571 =
1270AB 0AR OQUAGA 1 100 0.2 178 .0 3 3 =2 100 400 0,297 1.982 0.4%0 &
1Z70AC NAC DNOUAGA 1 100 0.8 175 Q;,MW 3 2 15 100 400 0,721 B.119 0.4%20 1
1270AD OAD QQUAGA 1 100 0.8 175 0.282 32 15 8 100 400 Z2.58% 11,720 0,420 1
1Z270XB OXE OQUAGA 1 100 0.8 175 Q.2 2 3 2 100 400 0,227 1.982 0.e248 Z
. 1Z270XD OXD DQUAGA 1 100 0.8 179 0.2 3 & 28 100 400 0,791 11.780 0,634 1
: 127T0OYF aYF OQUAGA 1 &0 0.2 178 0.2 2 35 &0 100 40010, 222 446,301 0.484 1
¢ 1270YF OYF LORDSTOWN Z 20 0.8 175 Q.2 3 36 4] 100 40010.228 44,301 0,684 1
127FT T FITS 1 100 0.3 178 100 400ERROR ERRNIR ERROR ERR(
12700 oy QUARRIES 1 100 0.8 175 100 400ERROR ERROR ERROR ERRQ
1Z7RE RE REXFORD 1 100 0.3 178 Q.2 = Q 3 100 400 0,089 0.435 0.5 3
127ROD RIID ROCEKE QUTCROF 1 70 0.8 175 100 400ERROR ERRIIR ERROR ERRCO
: 127ROD ROD ARNOT 2 20 0.2 175 0.24 bS 18 bl ] 100 400 2.852 11,780 1
L 1Z27SWE SWR SWARTSHWOD 1 100 0.8 175 0.2 3 3 2 100 400 0,227 1.982 z
' 127SKHC SWC SWARTSRWID 1 100 0.3 175 0.2 3 2 15 100 400 0.991 "H.119 1
1Z27SWD SWD SWARTSWOOD 1 100 Q.2 175 0.2 k] 15 25 100 400 2.85% 11,780 1
1Z7SKE SKE SWARTSWOOD 1 100 .= 175 0.17 3 3 = 100 400 0,237 1.982 0.807 Z
1Z27SXD SXD SWARTSKWOOD 1 100 0.8 175 0.17 3 15 &5 100 400 Z.85% 11.780 0.207 1
1ZTVOA VIOA VOLUSIA 1 100 0.8 175 Q.24 e ] e 100 400 0.0&% 0,435 0.571 ]
1Z27VOB VOB VOLUSIA 1 100 0.2 175 0.%24 ] ] 3 100 400 0,23 1.988 0.571 ps
127vc vac VOLUSIA 1 100 Q.2 175 0.24 3 a 15 100 400 0.771 5.11% 0,571 1
1Z7TVXB VXE VOLUSIA 1 100 0.2 175 Q.24 3 (%] 2 100 400 0,067 1,932 0.571 s
127VAC VXC VOLUSIA 1 100 0.2 175 0.24 2 ] 156 100 400 Q. %21 E.11% 0,571 1
127TWER WEB WELLSEORO 1 100 0.8 175 0.28 K] A = 100 400 0.287 1,282 0.4%0 b
1Z7TWEC WEC WELLSBEORD i 100 0.8 175 V.28 ] =2 15 100 400 Q.991 B.117 0.4%0 1
127TWED WED WELLSEORO 1 100 0.8 175 0.5 2 15 =5 100 400 11.780 0,470 1
127TWOR WOB WELLSEORD 1 100 0. 178 0,24 3 ] 2 100 400 1.982 0.B71 =
1Z27WoD WaD WELLSEORD 1 100 Q.2 175 Q.24 3 15 pd < 100 400 11.780 0.571 1
12TWXF WXF WELLSRORO 1 70 0.8 175 0,24 3 35 50 100 40010 IE.adE 08T i
- 1ETWXF WXF MARDIN & 20 0.8 175 0,24 2 25 et 100 400 5 F0.444 08T i
5 1Z27TWYB WYB WYOMING 1 100 0.8 175 Q.17 ] ] o 100 400 O 1.982 0.807 2
k 1TV Iy ¢ WYNMTNG 1 100 0.5 175 0,17 a = 1 100 400 0.5 F.119 0,207 1






